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BISECTION METHOD........
F(X) = EXP(-X)-X
EPS = 0.00001
A=0
B=1
FA = F(A)
C = (A+B)2
FC =F(C)
IF (ABS(FC) - EPS) 20,10,10
TEST = FA * FC
IF (TEST.GT.0) THEN
A=C
FA =FC
ELSE
B=C
ENDIF
GOTO 5
WRITE (*,30) C,FC
FORMAT ('APPROXIMATE ROOT ="' E12.5, 10X,
*'F (ROOT) =, E12.5)
STOP
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DO 1001 = 1, MAX
X1 = G (X0)
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F(X) =2 * COS (X) - X*X
c.. ... FD(X) IS DERIVATIVE of F(x)
FD(X) = — 2 * SIN (X) — 2*X
A=1
MAX = 20
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DEL = .00001
DOS0I =1, MAX
FA = F(A)
FDA = FD(A)
IF (ABS (FA) - LT. EPS) GO TO 60
IF (ABS (DFA). LE. EPS) GO TO 100
B = A - FA/FDA
IF (ABS (B - A) . LT . DEL) GO TO 60

A=B
50 CONTINUE
60 WRITE (*, 80) A.FA, I
80 FORMAT (1X, ’ROOT =", E 15.6.
*’F (ROOT) =", E 15.6, 5X, ’ITER =’_13)
STOP
100 WRITE (*, 120)
120 FORMAT (5x, ’'DERIVATIVE IS '‘ZERO')
STOP
END
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